N
=
<

Kp.CoseroB | 3 | Vpan 0 | Pocros Py6un 1 | ®aken 1 |KpacnHoaap 2 | Axmar 2 | Cnaprak 2 5
Jdunamo 3 H.Hosropona 0 3enurt Opendypr 1 |JlokomMoTHB 4 |Coun 0 IHCKA 3 Baaruka 1
ReNeGaDe 1-1 1 0-0 2 1-3 2-2 1 1-3 1 3-1 1 1-1 - 4-0 1 7
Muts 0-1 - 2-0 - 0-3 2-0 - 0-3 1 0-1 - 1-2 1 2-0 1 3
Kolhoz 1-2 - 1-1 1 0-1 1-2 - 0-2 1 2-1 1 2-1 - 3-0 1 4
Vit 1-1 1 1-0 - 0-2 1-0 - 0-2 1 2-1 1 1-1 - 3-0 1 4
Vlad 1-0 - 1-0 - 1-4 2-1 - 2-3 1 2-2 - 1-2 1 2-0 1 3
HUTOTIO 2 3 1 5 3 2 5 21
Tabmmma mocie 2 Typa
Ne Y4acTHUK NMPOrHO30B *2 *1 Htoro
1. Vit 16 2 7 11
2. Kolhoz 16 1 9 11
3. ReNeGaDe 16 1 8 10
4. Vlad 16 2 3
5. Muts 16 1 6




